M55 E REERR B (EHIR)
HF SLELT M




i IE AT AN ERE?

ERZIERRNARINEEX, y, STEXE
EMEERNN—1MRENE  Z3—1EEyR
BE—ES B,

XA ZEZ AKX RILAIE B IR

X,
WFLEirTSx . y, HliHCyIUxAIHE],

xlygE=E , yIUNT =S,

EHal , BIIEEFI TR/ LFhEBInIH2] ?




Rz ?

1=
K

y=kx+b (k#0)

— XA

IE LB R 2K
y=kx (k#0)

I b5 eR &

y=k/x (K#0)




%ﬁ.mﬂ{%ﬁ PR ? 6 )LERE TR

IKHE S5

LR ERBBL BRI HE R

I K BAEA BT K.

5] £

] 7K TH B

21 A ]

HITE ARy 2 8] B

Q HHALERE?
¥ 2




— --_;"--'—.':;

— y%ﬂx%?%/?v Y =X

BIEE TR, HEZN

1 x )24k T 2R AL B 32

x/Cm

y/Cm2




| =
I ilﬂ X /J\ RRXEFET —MEKNsm =
FRIREFE - HL i
D, R BFEFLK—LK X m, A4 57— K40-x) m

). WREERNEF ANy mIB4 xRy RRERN
y=x(40-x) , LREEAN_ y=-x+40x

3). MR EHEIRIEAIRE FR:

X S 10 15 20 25 30 35

y 175 300 375 400 | 375 300 | 175
@), BRH ERPGKAPMER, FEERHERymAK?
HAx=2007, T I TH ARy & K, 8400.




2. MR BIEEN N0 T/, BAIBRIBO 10000/, JaR
RINMTHEE, EATENTAHEE, {2 TI R :

@ GE/fh
ARER ()

= _

-
-
=

D, HAEMES
BRNEN (100 55,
2). HEMNRETH, AEEEBRD 104, £
fReg &N (500-10x) 44,




B M X TT/ A VAT H By

NyTt, HxRayRIRIER A=
1tﬁﬁﬂjy=-lﬂx2+400x+5000

4), #f:

& IX R SRR S A
(10+x) (500-10x)

N9 2 HREAIEE TR:

i L

X

10

15

20

25

30

Y

3000

8750

9000

8750

38000

®). & —T, E3FRA

Hx=2007, I8 B E R TEy N,

XA TERT ,  3R7% 1) 0 ATy s K ?




*.ﬂ-'\w\\ &

ZRIRIR

ML E=A BT, BABHTEARER: y=m
y=-x24+40x, y=-10x2+400x+5000,W 22 R =M EHRER
HRRER




=y

_x;fﬁix .

—fcHh, RN By 8] ) R B o< &R A
AR y=ax?+bx+c Ca, b, cHEE, at0) , I

L FRy Rt — IR ER 24




BATIE I ty=ax? +bx+c (X H
a7 0) B R ZM 5 — IR R X




REBEXTEENRN: —UEH

{$ 1. BERMBRRIR2.

,%; 2. KRB F B0, A UAKRAE —RIUH

3. ZIRERBUENT D T2 B




“IRRBH— A
y=ax2+bx+c (3

Ha. b. c%‘.’%"ﬁ az0)

HxZEHZER, aAZRIARE, ax M KM
bA—IRIUAREL, bxAUM—IRIN, cNHEIN.

ﬁ@ﬁﬁﬁﬁ%}%fh

Hb=0HY, y ax2—+c




Bl1. FHIREFH, WEREZIREKE? &R,
99 98 H ZIRTUER B, — IRIUREL, B

(1) y=3x—1+1  (2) y=x++

(3) s=3—2¢* (4) y=(x+3)*—x?
(5)y=l —X (6) v=87 r?

X2




B (Dy=3(x-1)*+1 (4) y=(x+3)%-x*=x2+6x+9-x?
=3(x2-2x+1)+1
=3x2-6x+3+1 | BV y=6x+9
Fll y=3x2-6x+4 AR ZIREREL.
& IR i |
e T N
—IRIMRZEL: -
Ay AR IREH.
%ﬁfﬁ' ‘: . (6) v=8x r?
Q) y=xt - ARTIREH 5 —wm%.
(3) s=3-20 R _ IR B L. — IR AR 8T
—RRRE: -2 —RILEH: 0
—IXKIMARE: 0
I 3




Qy=x1-x) =

Dy =(x-1)"-x" 5z

y—=x2-2x+1—x2

=—2x+1 SeAb ] Ja A W




2 BHTIFHEHXRFAN , FRbLEMTAHN

( 1) SHIELERIFRER S SIELtRIKaZER
EHEIRR ?

f#: S=6a’ B —PRTal) IR

) ZRRAFRNAZEAIA 2 6 cm , K=/

(
RIER S 5—XTAZxZAREREAIXER ?

B PR TxH IR




B KAy = (m* —9)x” + (m—2)x + 452 _IKEREL,

SKmif) HUE. Y0 [ .

fF: HBES: m° —9#0
S.m#ELT3

5> :
H Ry =(m® -3m—4)x’ + x + 42 IR,
Km P BUE L -
#: HEBE®: m’-3m—-4%0
C.m#— 1 Hm#4




i 2Ry = (m® —1)x™ "R IR
SR HAE VG o

W mEam. |7 T
m —1#0

(m=28m=—1

. km;z&irl

com BB TE FE Em =2




IR N
2R EY = (m* +m)x" 7" + 452 ZIRREL,
SKm P HUE VG H .

‘m’—2m—1=2

i« Hﬂ@ﬁlﬁ 3

m +m#0

‘m=38m =—1
m#=0Hm# -1
s mA BB YE [ Em =3

ce Y




BEES v =k -k +hc+V2 —k
(1) kRMERT, yExBY—XeR#?
(2) kAMMER], yEXBIZIReAH?

k=0

k%0

S k=10 y R x B — IR R 4L

@) % k2- k== 0,80k 0H k 3~ 11

yie xH — IR R &

® (1) RIBEES -




y= (m+3) x

2.7

(1) mEUHAER, HEREGE]

(2) miELf

A

(3) miLf

LE BR &K

A

- OB BR B ?

N, BRI I LU AR BRI 2 ?
N, BCERERE IRERE?
. (1) ¥ym2—7=1Hm+3#0EIm=+ z\fzﬂﬂ”x%lf

(2) ¥m2—7=-1Am+32080m==+ J6i 2K HFIE

44

(03 ) Im2—7=2 Hm+3#0Em=30] & XK &,




ARV ARV = bR HE ), XE
e A R 112, A BRI &
D Yr&wEht, VERIIT 4R
() HheHEER, Vierlft 4k

V= rr'h
#: (D) Hrew=

#: (2) Hhtm =




—REAOKKHNEEBRR—A—LEENK
‘B Ay AKX, RySxZBERIRBR RN
Sx=128f, T+EEHEKEE.

M. hEEf: Y=x(40-2x)

Bl: y=40x-2x2 (0<x<20)

Sx=128}, SEREPFIHEmRA:

y=40x-x2=40 X 12—2 X 122
=192 CFHXK)




KAFERIENIem, 5 Ad4em, KFFEER
Hbx om, WEAEHRAy. 5Hy%Fx
BRI E R R 3o

#: y=(9-x)(4-x)

y=36-13x+x2
Bl: y=x2-13x+36 (0<x<4)




ING -
1.ENX : —fgith Filly=ax>+bx+c(a,b,c2F#%L,a#0)
AIERZZ N (<A IR R Y.
y=ax*+bx+c(a,b,cE2FE&, a%0) LA RZFTA:
(1)y=ax*(a#0,b=0,c=0,).

(2)y=ax*+c(a#0,b=0,c#0).

(3)y=ax*+bx(a#0,b#0,c=0).

2. EXRIELFR - ax+bx+ 28N, HESxHE
X BEEXHHECEIE 2.




